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1) Rovnice (x = - 6), (Zk = 16)
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2) Rovnice (x = - 10) (Zk = 144)
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3) Rovnice (x = - 1), (Zk = 49)
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4) Rovnice 
[image: image51.wmf]÷

ø

ö

ç

è

æ

=

2

1

x

, 
[image: image52.wmf]÷

ø

ö

ç

è

æ

=

4

1

Zk



[image: image53.wmf](

)

(

)

3

3

2

6

2

2

2

-

-

-

=

-

+

x

x

x

x

x



[image: image54.wmf]x

x

x

x

x

x

3

3

2

6

4

4

2

2

2

+

-

-

=

-

+

+



[image: image55.wmf]2

2

2

4

x

x

x

=

-

+




/ -x2

[image: image56.wmf]0

2

4

=

-

x





/ +2

[image: image57.wmf]2

4

=

x






/
[image: image58.wmf]4

1

×



[image: image59.wmf]4

2

=

x



[image: image60.wmf]2

1

=

x


Zk:

L 
[image: image61.wmf](

)

=

-

+

=

6

2

2

x



[image: image62.wmf]=

-

÷

ø

ö

ç

è

æ

+

=

6

2

2

1

2



[image: image63.wmf]=

-

÷

ø

ö

ç

è

æ

+

=

6

2

4

2

1

2



[image: image64.wmf]=

-

÷

ø

ö

ç

è

æ

=

6

2

5

2



[image: image65.wmf]4

1

4

24

4

25

=

-

=


P 
[image: image66.wmf](

)

=

-

-

-

=

3

3

2

2

x

x

x

x



[image: image67.wmf]=

÷

ø

ö

ç

è

æ

-

-

÷

ø

ö

ç

è

æ

×

-

÷

ø

ö

ç

è

æ

×

=

3

2

1

2

1

2

1

3

2

1

2

2



[image: image68.wmf]=

÷

ø

ö

ç

è

æ

-

-

-

×

=

2

6

2

1

2

1

2

3

4

1

2



[image: image69.wmf]=

÷

ø

ö

ç

è

æ

-

-

-

=

2

5

2

1

2

3

2

1



[image: image70.wmf]=

+

-

=

4

5

2

3

1



[image: image71.wmf]=

+

-

=

4

5

2

2



[image: image72.wmf]4

1

4

5

4

=

+

-

=


_1399470800.unknown

_1399481759.unknown

_1399483993.unknown

_1399528122.unknown

_1399528248.unknown

_1399528569.unknown

_1399528657.unknown

_1399528737.unknown

_1399528615.unknown

_1399528405.unknown

_1399528210.unknown

_1399528224.unknown

_1399528154.unknown

_1399486129.unknown

_1399486200.unknown

_1399528101.unknown

_1399486176.unknown

_1399485969.unknown

_1399486109.unknown

_1399485898.unknown

_1399485961.unknown

_1399481922.unknown

_1399482087.unknown

_1399483909.unknown

_1399481972.unknown

_1399481812.unknown

_1399481836.unknown

_1399481799.unknown

_1399472462.unknown

_1399481670.unknown

_1399481725.unknown

_1399481738.unknown

_1399481676.unknown

_1399481477.unknown

_1399481615.unknown

_1399481628.unknown

_1399472469.unknown

_1399471266.unknown

_1399471432.unknown

_1399471470.unknown

_1399471515.unknown

_1399472405.unknown

_1399471494.unknown

_1399471447.unknown

_1399471302.unknown

_1399471339.unknown

_1399471376.unknown

_1399471279.unknown

_1399471060.unknown

_1399471243.unknown

_1399471031.unknown

_1399468698.unknown

_1399469438.unknown

_1399469562.unknown

_1399470596.unknown

_1399470699.unknown

_1399470554.unknown

_1399469463.unknown

_1399468852.unknown

_1399468870.unknown

_1399468707.unknown

_1399468661.unknown

_1399468682.unknown

_1399468690.unknown

_1399468667.unknown

_1399468554.unknown

_1399468653.unknown

_1399468567.unknown

_1399466745.unknown

_1399468315.unknown

_1399115285.unknown

_1399115313.unknown

